Solving Quadratic Egns

Ext 10" £« -C = O
(0K -(p —
—60 102 —4x £1Sx — b = O

& 5 (k-2 ) +3($x-2) = O

(2:( ) S$x-2) = O

Ether 2% a473z-0 or $s¢c =2 =
2o¢ = - % Cse =2
X = - = x = _?;-
2 \Y
L
E,g?_ é:x A X - ( = O
6x ox® —2x+3x -1 =0
-2 +7 2.%(?94 ’l)d-I(‘}-x,l) =0
(Zx k‘)(:})(—() = O
£ bl 2> &1 =06 s Ve — | =
2Zx = — l 29( = [
X = ’é - /‘-
x - 3
E«¢ree Solve

D 2x’ « I +6 =0

Z_> 3 4+ llx —4 =0



3> 43(.1-—2_39( +1S = O
4) 4 +8x —21 =0
<) 9o —4x +2 = O

) 2xte 7x r 6= o

:2:16 2% + 3x #4x +& =I
I e ‘«Y(ZD( 4—'33 4—2_(27: 4—’35 =9
( x 4224+ =0
Ectar X +2 = O of 2% 47T O
x = -2 2 = —
2
e = — =
2
Z —
?,> Ix? #llx — 4 =0
¥4 AIx? - +12x ~g = O
= ~-12
- +12 x(3x-D)+4(3=x-) =0

(x +&)( 3=x~-1)=0

ECler o 44 =0

x = -4

or Lz -l =0

Ix = |



3) 4xz —23=x 41§ =o

g1

= 6LO

-3 ~20

L Ear

4R -2)
T ~84

-6 +l¢

sz—zx - 20x 41T - O
25(24:x.-.3:> ~S(ax-3) =0
(x -5 )4x-3) =0

x - S - o or 4x —3 =2
x = ¢ A>x = X
x = 3
=

4")62 + &x - 2) =0
Ax" —bx + JdAx — 21 = O

Zx(Zx '23 +3 (2«-3) =0
(Zx +‘l>(2:r——?>:o

E tar 2xt+l TO or 2x-3=0

)
Ax-2
= +(R

-1-6

2x = -

7
2

cixz'e— Qo 2 =0

c('xi ~ > - (=<~ &2 =O

3>((3’>( - l) -—Z(Zr»—() =0



Eler

( U —L)(’Zx ,-l) =&

LCx -2 =0 or
Ix =2

Sx ~(
R

1

=0

W\~




